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COnvergence program “Operati .
Was launched by the Gos ernment of
which of the !imF].'-l\\'in;: states 7
(A) Gujarat
(B) Himachal Pradesh 82
(C) Maharashtra
(D) Uttar Pradesh
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What is the tagline of Uttar Pradesh
Police ?
(A) Seva, Veerta. Bandhuta
(B) Satyamey Jayate
(C) Seva, Suraksha, Shanti

(D)  Suraksha Aapki, Sankalp Hamara
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Aryabhatta Research Institute of

Observational Sciences is located n
which of the following districts of
Uttarakhand state ?

(A) Nainital (B) Almora

(C) Chamolj (D) Champawat
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(A) Tz

(B) T 317 74

(C) W 3175 754

(D) eftn 317 25

What is the i) form of G20 9
(A) Grand Twenty :
(B)  Group of Twenty
(C) Glory of Twenty
(D) Gather; ng of Twenty
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The Grand Canyon | a | 3
States of America & in ¢ : |
which of the followjn.™ tap,
(A) Columbia
(C) Yukon m)
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The idea of a nationwide

was first proposed by W(’il?;r i India
following ? y o the
(A) Basel Commitiee

(B) The Kelkar Task Foree

(C)  Rekhi Committee

(D) C. Rangarajan Committee
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Which of the following neighbourins
countries of India does not shareu{:;i; |
boundaries with India ? . |

(A) Bhutan B

(O) Maldives 1 N
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(C) =rh (D) =
fTOky?” 's the capital of which of f
ollowing countries of Asia ? _
(A) Japan (B) Thailand

© Ba (D) China
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many “Collector” (not jncluding assistant
The Uttar

. 2
]h{_‘ State governm

or additional collectors) as per
Pradesh Revenue Code. 2006 7 \
(A) Three (B) One
(C) Four (D) Two \
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At present what the sanctioned
strength of Judges of the High Court ol
Judicature at Allahabad ?
(A) 160 (B)
(C) 150 (D)
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Who among the following was the first

Chief Minister of the State of Uttar Pradesh
[ o = g
after the [ndependence of India 7

1 Yogi Adityanath

Ay Shri YOg! Adity

[I;:: Shri Gobind Ballabh Pant
[L—l éhri N.D. Tiw:,ari

lDl Shri Kal}‘a_ﬂ_Smg_h
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(A) ;'1.;55100 Shakti
(B) ImissiO“ Vamini
(C) \ission Vanita
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The ;;:nc border of Uttar Pradesh does
ot touch 10 the border of which of the

I”ollm\'ing states 7
(A) Uttarakhand (B) Telangana
(C) Haryana (D) Bihar
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The highest peak in southern India IS
Anamudi that is situated in which of the
following mountain ranges ?
(A) Nilgiri Range
(B) Velikonda Range
(€) Vindhya Range
D) Balaghat Range
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If the imports of the company jn 2002
were ¥ 260 crores, the exports from the
company in 2002 were
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(D) t:fé Qﬁa PF fam 7 qhdl 'b’y the
Mihir has been cmp“,}-cd which he

;‘m:pam_\.' for five years, du’”'nlﬁ
Q0K a one- ear leave witho
inr StlbscqJc';l}’ltrtrrtl1inuwd from the
service.
(A) ifeither G or PF can be given-
(H] Ilf‘{!nly G can be gj'\-‘eﬂ. ,
(C) ifboth G and pr can be given.
(D) ifonly PF cap pe given.
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(D) M %3 PF e s i 2 |
Mr. Ashok was terminated from service
after ten years.
(A) ifeither G or PF can be given.
(B) ifonly G can be given.
(C) ifboth G and PF can be given.
(D) ifonly PF can be given.
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Mrs. Deval worked a¢ the
three years. HOWever, dwingcg;;pa"y for
that time, she wag o © Years oo
Eventually, she wag term: 'Paid leay,

job. from ﬂ:
(A) ifeither G or PF can be‘ginn‘
(B) ifonly G can be given
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(A) Set-up perimeter check? (C) 16 km (D) 11 km
1solate the area
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without back-up :
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(C) Use social media to gather P
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If first, third and sixth 1erers o °
"LINGUIST” are changed
Immediately preceding
English alphabet series and I
seventh letters are ¢
immediately succeedin
English alphabet series
letters are there between the
=F fifth letter of the newly

E (according to English alpt

(A) 8 (B)
© 9 (D)
place of
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B Rahul and Robin are brothers. Pramod 18 ||
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: o Pramod’s niece. Shubha 1s
2 B lsdaug_hicl’ How is Rahul related
- Prema’s
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to Shubha
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Which of the following diagrams best
indicates the relation between Sea, Earth,
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BB : 360+ 124 4 x 3
Solve : 360 + 1244 x 3
(A) (B)
(C) D)
K, GRusid, g, Aaa@ b ARSF
BT d, R, G & gy 8, A ¥ & P WA
B’ 7

K is older than G, - than G
younger than R, R is youns® <

15
42

102
106

G is older than A, Ais

Tes ?
then who among them is youngest
(A) R B) G
(© A (D) K

T T & ai A o0 6 F,
Sireré 4 B o dand 1 anfr3 143 x 1 el
a1 A & e w o A TR
6 Aft x 1 A} g =) B wEE A A
By & | 6 At x 4 At 79 T A BT
& o1 3 1 g & | werien (6 5 T A
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A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x | cm are
coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 ¢m x 4 c¢m are
coloured in green. The block is divided
into 6 equal cubes of side | ¢m (from 6
cm side), 4 equal cubes of side | ¢m
(from 4 cm side).

How many cubes will have green
. col
on two sides and rest of the sides hav?nu;

no colour ?
a) 10 (B) 4
© 12 (D) 8
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A health-conscious individual is tryin l
remember the hotline o i i
recently established mor a:
consulmtion service. He ]’W
following points:

1. The phone number starts i

2. The phone number ends :-;L? 5953{

3! 'Th: fourth digit is either 2,406
and not repeated in the dios
numbers, -
The fifth digit is the product of the -
last digit and the fourth digit.

Now, considering these conditions, the
individual has narrowed down fowr
potential phone numbers for the nutris
consultation service. Find the suitable
one.

(A) 98724652 (B) 98762652
(C) 98764652

e . g
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T YEE % AL H I FE T e
S EHA R | TEIRGE | |
In the following question, a word b
been given, followed by four o
words, one of which cannot be forme
using the letters of the given word.
that word, A\

PERPETUATION L SRS
(A) PIPETTE {B; REPULE
(C) PENANCE (D) RETAIN
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In the question below a statement followed
by two conclusions numbered 1 and I is
given. You have to assume everything in
the statement 1o be true, then consider the
two conclusions together and decide which

of them logically follows beyond a

reasonable doubt from the information

given in the statement.

Statement : The interview panel may
select a candidate who neither
possesses the desired qualifications
nor the values and attributes,

Conclusions :

I. The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper,

[I. The interview test has certain

limitations in the matter of

selection of candidates,
(A) Bothl and II follow,
(B) Only conclusion I follows,
(C) Neither I nor 1 follows
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Find out from amongst the four
altematives as to how the pattern would

dppear when the transparent sheet is
folded at the dotted line.
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The Narmady falls in which of the

follgwing 2
(A)
(B)
(C)
(D)

The Indian Ocean
€ Arabian Geg
The Bay of Bengal
The Pacific Ocean
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Name the songs which cele}:rate the
e divine love of Radha and Krishna and
E especially popular in Braj.
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(A) Kajri (B) Khayal
(C) Rasiya (D) Charkula
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(C). ¢ Textiles has launched
Mimst;{itro,, application to facilitate
“Paat- ing which of the following ?
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C) $hrt prem Behari Narain Raizada
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(D :
%&Lmﬁy, the statue of Tamil poet and
philosopher  Thiruvalluvar been
unveiled at which of the following
countries of the world ?

(A) Hungary (B) France
(C) Switzerland (D) Brazil o
2016 % faggemto % w93 et
R WA & WA 9 7
(A) 4 Iz fargrdt Aot
(B) %% o
©) i ve 3, smzami
W) i fim
:';“’.‘ tmong the following was the Prime
Mister of India at the time of
(A) “Detisation of 2016 ?
5 Shri Atal Bihari Vajpayee
| Shri Narendra Modi
(D) s"ﬂ'! LK. Advani
Shri Manmohan Singh
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